Wuthering Heights
1.Who is the author of Wuthering Heights?

A.Charlotte Bronte  B.Anne Bronte  C.Emily Bronte  D.Elizabeth Bronte

2. Wuthering Heights is a story about_____.

A. nature and freedom             B.love and revenge 

C.love and gratitude              D.hate and failure 
3. Wuthering Heights is told in flashbacks by two narrators_____and_____.

A.Mr Lockwood and Nelly Dean    B.Heathcliff and Catherine 

C.Edgar and Catherine            D. Mr Earnshaw and Nelly Dean

4. When Wuthering Heights was first published,critics found the book to be_____.

A.a classic    B.a failure    C.popular and amazing    D.strange and shocking

5. When Mrs Dean shared her stories with Mr Lockwood,she had lived at Thrushcross Grange for ___ years.

A.15         B.16         C.17         D.18 

6.Choose the right match.
① Hareton Earnshaw    ② Cathy Linton.  ③Linton Heathcliff
a.Frances and Hindley's son is called____ b. Catherine and Edgar's daughter is called____

c. lsabella and Heathcliff's son is called______
A. ①②③     B. ③②①    C. ①③②     D.②③① 7.What was the realtionshp between Hareton Earnshaw and Edgar Linton?
 A. Hareton was Edgar’s nephew       B.Hareton was Edgar’son
C. Hareton was Edgar’s brother        D. Hareton was Edgar's niece
8.Which is not among the three names that were scratched on the shelf in Catherine’s room?
A. Catherine Bronte               B.Catherine Earnshaw  

C.Catherine Heathcliff             D.Catherine Linton 

9.When Mr Earnshaw died,Catherine and Heathcliff felt______.

A. relieved and at peace            B.sad and upset  

C.indifferent                     D.miserable but relieved  

10.What were Catherine and Heathcliff fond of?

A. Having piano lessons together     B.Running around the moor   

C.Working in the fields             D.Raising animals

11.Mrs Linton thought of Heachcliff as a _____boy.

A.honest      B.obedient      C.good      D.wicked

12.When Catherine came back from Thrushcross Grange,she looked____.

A. lovely and beautiful             B.pale and ill  

C.homesick and unhappy           D.regretful and sad

13.Which of the following words can’t describe Heathcliff?

  A.brave       B.strong        C.coward    D.tall

14.Which of the following words can’t describe Catherine?

  A.insensitive   B.passionate     C.proud     D.arrogant

15.Which social class did Earnshaws and the Lintons belong to?

A.aristocracy   B.working class  C.gentry(upper-middle class)  D.lower class

16.Mr Lockwood had to stay overnight at Wuthering Heights because___.

  A.there were no servants to take him back.  

B.it was too late to take him back.

C.he didn’t feel well.  

D.he hurt his back.

17.Nelly Dean felt ___________for Heathcliff because Hindley was cruel to him.
A. hate    B. love        C. sympathy   D.indifference
18.Which word might not describe Catherine’s life if she chose Linton?

  A.rich     B.comfortable  C.boring      D.happy

19.  _______ adopts Heathcliff and cares for him as a son.
  A. Old Mr Earnshaw      B. Edgar Linton     C. Mr. Lockwood     D. Linton Heathcliff
20.  ________ is Heathcliff’s neighbor and rival in love.
  A. Old Mr Earnshaw      B. Edgar Linton     C. Mr. Lockwood     D. Linton Heathcliff
21.  ________ is Heathcliff’s tenant.
  A. Old Mr Earnshaw      B. Edgar Linton     C. Mr. Lockwood     D. Linton Heathcliff
22.  ________ is Catherine’s housekeeper and confidante.
  A. Nelly Dean           B. Cathy Linton     C. Isabella Linton    D. Hareton Earnshaw

23. Heathcliff seemed to __________ Hindley’s sinking lower and lower.
A. be worried about   B. show sympathy for    C. be happy about    D.be indifferent to
24. Which of the following descriptions is TURE?

   A. Hindley Earnshaw came back to Wuthering Heights with a wife.

   B. Mr. Lockwood was warmly received when he went to visit Heathcliff.

   C. When Hindley died, Hareton inherited Wuthering Heights.

   D. Heathcliff wanted Hareton and Cathy Linton to marry.

25. Which of the following scenes is not in the novel?

   A. Hindley hit Heathcliff with an iron bar when they were young boys

   B. Heathcliff threw this pan of hot apple sauce at Edgar when he came to Wuthering Heights and insulted him. 
   C. Catherine rips her pillow and throws the feathers around the room when she is upset with both Edgar and Heathcliff and cannot choose between them.

   D. Edgar didn’t try to stop Isabella from marrying Heathcliff.

26. Which of the following descriptions of characteristic for each character is NOT TRUE?

   A. Catherine Earnshaw : passionate about Heathcliff but selfish and wants everyone and everything to be as she wants it.

   B. Isabella Linton: stupid how she falls for Heathcliff but then strong when she runs away and looks after her son on her own.

   C. Nelly Dean: caring but distant and judging

   D. Hindley Earnshaw: caring and good but weak and unable to stand up to Catherine or
Heathcliff. 

27. Which of the following is the right order of these events?

    ① Catherine visits Thrushcross Grange for the first time and stays there for five weeks.
    ② Mr. Earnshaw brings Heathcliff to live at Wuthering Heights.
    ③ Catherine Earnshaw and Isabella Linton are born.

    ④ Mr. Earnshaw dies; Hindley returns to Wuthering Heights with his wife Frances.

A. ①②④③          B. ③②④①          C. ①④③②         D. ③④②①
28. Which of the following is the right order of these events?

    ① Edgar and Catherine get married. 

    ② Linton Heathcliff is born.

    ③ Heathcliff runs away from Wuthering Heights.

    ④ Catherine dies soon after giving birth to a daughter.

A. ①②④③          B. ③②④①          C. ①④③②         D. ③①④②
29. Which of the following is the right order of these events?

    ① Heathcliff dies. 
    ② Cathy and Linton get married; Mr. Lockwood visits Wuthering Heights.
    ③ Cathy Linton meets Heathcliff and Linton on her sixteenth birthday.
    ④ Nelly takes Linton to Wuthering Heights.
A. ④③②①          B. ③②④①          C. ①④③②         D. ③①④②
30. Heathcliff ran away because
A. Catherine hurt his feelings.          B. he wanted to get away from Edgar.

   C. Hindley treated him very badly.      D. he wanted to make his fortune.
31. Isabella fell in love with Heathcliff because.

   A. he behaved and dressed like a gentleman.     B. he was kind to her.

   C. she liked his wild passionate nature.         D. she wanted to leave Thrushcross Grange.

32.Catherine became ill because

   A. she saw Heathcliff kiss Isabella.       B. she couldn’t live without Heathcliff.

   C. she was expecting a baby.            D. she thought Nelly was a witch.

33.Heathcliff wanted his son to marry Cathy because

   A. he knew they loved each other.        B. he wanted her to live at Wuthering Heights.

   C. he wanted to own Thrushcross Grange.  D. he thought she was lonely.

34.What love does Linton has for Cathy?

   A. passionate and eternal love           B. brotherly and protective love

  C. forced by Heathcliff, not natural        D. devotion

35.What love does Edgar has for Isabella?

  A. passionate and eternal love            B. brotherly and protective love

  C. forced by Heathcliff, not natural        D. devotion

36. What love does Edgar has for Catherine

  A. passionate and eternal love           B. brotherly and protective love

  C. forced by Heathcliff, not natural       D. devotion

37.Which of the following sentences is not the description in wuthering heights
  A. The house stands on the top of a hill. On one side of it there are a few trees. They all lean in the same direction, blown by the strong north winds.

  B. It was snowing heavily now and I was very cold. I tried to open the door but it was locked.
  C. I’m glad he did because the snow was like a white ocean and it was impossible to see the road.
  D. The moon watched from the sky behind the clouds as the stars blink their eyes in fatigue. Everything is now in slumber, not a single sound nor a single movement can be seen or heard.
38.Catherine says Heathcliff will never love a Linton, because _____________.

  A. she knows Heathcliff is a vindictive man and doesn’t mean well to the Lintons.

  B. she wants to keep Heathcliff for herself and says it to scare Isabella away.

  C. she doesn’t want Heathcliff to be married to a girl she hates so much.

  D. she doesn’t think Isabella will make a good wife for Heathcliff .

39.Which of the following means “say or do something embarrassing”?
  A. pull someone’s leg                   B. put your foot in it 

  C. give someone a hand                 D. turn a deaf ear to someone
40.Who died of fever？
A. Mr. Earnshaw       B. Mr. and Mrs. Linton     C. Catherine     D.Hindley
41.We may guess that Catherine ______________
A. has been loving Edgar ever since they get married 
B. has come to love Edgar ever since they get married
C. loves Edgar more than he does her
D. at first had a bad temper because she was unhappy with Nelly and the servants.
42. When Heathcliff came back, Catherine was __________.
A. excited      B. annoyed            C. calm         D.indifferent
43.After coming back, Heathcliff stayed at __________________.
A. a hotel      B. Wuthering heights     C. Thrushcross Grange    D.a village nearby
44.When Heathcliff returns from being away, which social class does he belong to?
A. aristocracy   B. gentry (upper-middle class)  C. working class    D.lower class
45.____________ was falling in love with Heathcliff after his frequent visits to the Thrushcross Grange.
A. Catherine    B. Catherine’s sister-in-law, Isabella     C. Nelly    D.Cathy
46.Catherine was ___________ because she couldn’t bear the idea that Edgar wasn’t spending time worrying about her.  
A. furious      B. sad        C. calm      D.regretful
47._____________ were riding horses that Nelly heard at two in the morning.
A. Hindley and Hareton              B. Heathcliff and Isabella
C. Linton and Catherine              D.Heathcliff and Catherine
48. Catherine fell ill because _________.
A. He saw Heathcliff kiss Isabella      B. she couldn’t live without Heathcliff
C. she was expecting a baby           D. she thought Nelly was a witch
49. Heathcliff  felt great ________ when hearing Catherine’s death.
A. relief       B. grief        C. fear       D.satisfied
50.Why wouldn’t Heathcliff let Isabella stay with Nelly?
A. Because he felt lonely without Isabella 
B. Because he wanted Isabella to suffer with him.
C. Because he feared that Catherine would haunt him.
D.Because he couldn’t live without Isabella
51. ________ months after Catherine’s death, Hindley Earnshaw also died. 
A. Four       B. Five        C. Six        D.Seven
52. After Hindley’s death, ______ inherited Wuthering heights.
A. Hareton    B. Heathcliff    C. Edgar      D.Catherine
53.Who did Heathcliff force to work as a servant in his house?
A. Hindley    B. Catherine.     C. Hareton    D. Isabella Linton.

54.Over the course of the novel, which characters claim to see Catherine's ghost?
A. Heathcliff, Hareton, young Catherine, and Joseph   B. Edgar Linton and Heathcliff  C. Joseph and Nelly Dean                        D. Lockwood and Heathcliff

55. How many cousins did Cathy Linton have?
A.5        B.4       C.3       D.2
